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Question Number : 1 Question Id : 4771873060 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rakesh, a Class-IX student 1s actively involving in co-curricular activities

than curricular activities. This relates to

TTheT AT A94 (=91 a2, TT5eMad IJTHATHET (co—curricular
activities)AATATIAT ATHF ATHT Ag. g DHITAT TSI90T AATHT AL
Options :
Inter-individual differences

Intra-individual differences

AT T AT T
2.9

Both inter and intra individual differences

Neither inter nor intra individual differences

ATHRETA har Ao e Teal IH1A FiF Alald

4. %



Question Number : 2 Question Id : 4771873061 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development

aTer TETaT i Toa Arepar

Options :

Development proceeds from general to specific responses

faeprer A= wfafwaraa @Atoe afafFriss smar.
1. %

Development follows the principle of interrelation

[T 77T HEAHT=T aeA A1 2ral.

2. %

Development proceeds in the direction of the foot to head

fareh e O ST a=aT =4 2ral.
3.¢¥

Development exhibits lack of uniformity in the developmental rate of a child

FETAETHET HAT=aT [AFHaTd UHATTE T T4aT.

4.%



Question Number : 3 Question Id : 4771873062 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given

under List-B with respect to Erikson’s Psycho-Social Development Theory

T FAT=AT A HFH-ATHTIE a6 Fgiar=ar g297d a14r-97 sda9q faeear

TETAT=AT FTATFEHAT TTaT — F HANT (a1 AT T BT FH7T,

List- A List —B
qer -3 qTal - a
(Period of Development) (Stage)
(FrwraT=T Frer=a) (=)
A) Disthito 12 vears 1)  Initiative Va Guilt
o
B lE ELT
B) 6 yearsto 12 years 1)  Autonomy Vs Doubt
6AY T 1299 A fdeg 9T
C) 3 yearsto 6 years m) Trust Vs Mistrust
SF Y6 S faeame fasg afaam
D) $ilvearsin’ivears iv) Industry Vs Inferiority
. 3

- [ i :
. ECIURCEr-ari Gl
1 ag g 399

Choose the correct one

Options :
A-m, B-av, C-1, D-n

1.¢

A-iv, B-ui, C-1, D-11

2. %



3.

A-1ii, B-iv, C-11, D1

A-m1, B-1, C-1v, D-11



Question Number : 4 Question Id : 4771873063 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development of

a child

HATAT 121 9 At dafad g+ g droar

Options :

Development is comprehensive than growth

1. %

Growth includes quantitative aspects; development includes both

qualitative and quantitative aspects

TTE E THEATITCH aTa (97 AATE9T Fi7dl, TAFRATHET TOTeHS AT
TIHATITCHT Slvgl aTa =T THTT AT,

Maturation and environment influence child’s development

Growth i1s comprehensive than development

4.



Question Number : 5 Question Id : 4771873064 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct statements regarding the role of

heredity and environment on child development

FTATATHT IO (AETT A TITHAT T ATATAL0T FAT AAT=TT [AFHEET 2 -AT
TROTEEESTT T A o AedT

A) Heredity plays a role in physical development of the child

B) Environment plays a role in the emotional and social development of
the child
C) Development is the product of environment and heredity

[T 2T ATATET SATIOT ATTATIHTHT THOTH =,

D) Learning and maturation influence development of the child

Choose the correct one:

Options :

A.C.Donly

TmAC.D

B.C. D only

% B.C.D



3. %

4.

A.B.Conly

wwm A BC

A BCD



Question Number : 6 Question Id : 4771873065 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to

perform the problem independently. According to Vygotsky. this is

T TErEaTe T =A@ JT9AT=1 (mensuration) O ASaUATHTST Had e |

FrETicASl (Vygotsky) THTE ATET 2 F2UTaTd.,

Options :

Scaffolding

FTETT 397
1. %

Fading

FHT F200 [ AZET ZIO0
2.

Shaping

3. %

Guiding

HTRTE$TH FHe0T

4. %



Question Number : 7 Question Id : 4771873066 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
As per Kohlberg's Theory of Moral Development. in this age, the child behaves
with obedience for avoiding censure by higher authority or social systems.
FIgAET=AT Afa® HFET=AT AT, 91 397, 37 Afawr fFHar amts

Options :

4 to 10 vears

4F10a9
1. %
10 to 13 years
1071399
2.
3 to 8 years
3T 8T
3. %

8 to 13 years

8T 13 a9



Question Number : 8 Question Id : 4771873067 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test. Picture Arrangement Test and Object Assembly

Test belong to this type of intelligence tests.

A== 7T zAiF fTHTEa =i, == A= ST (Picture Arrangement Test)
AT a&q HATSA 1001 (Object Assembly Test) JT H#d JTHTAT AT ATl THTT=4
FfgA =T A=A FI0T AT,

Options :

Verbal
STTfea

1. ®
Performance
AT

2.
Paper — pencil
FITE - dfaa

3. %

Projective tests

TETIT FTFTET



Question Number : 9 Question Id : 4771873068 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamic organization within the
individual of those psycho-physical systems that determine his unique

adjustment to his environment”.

ATATACITSNT S ATAT=AT AT TGl (H 12T Fd” — Al ATHHAT T ZATEAT
Options :
Hillgard

IENIES

Raymond B. Cattel

2. ®
Allport
3. ¢

Carl Jung

FTA 9T

4, %



Question Number : 10 Question Id : 4771873069 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-X completed student wants to continue his study and at the same time
wants to join work to help his family due to socio-economic condition. The

conflict being faced by the student here 1s

zregar. 79 faematar =37 S99T=T aTHAT FEET AT A 97 el

Options :

3.

4.

Approach-Avoidance

I — TE

®
Avoidance-Avoidance
qiixq_lqr -_— QE:Q "i
-
Approach-Approach
I — TR
' 4
Double Approach
33%‘ IERINE
%



Question Number : 11 Question Id : 4771873070 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements regarding the methods and approaches of Child

development

ATATABTHTSAT Tl AT ZIehATasa F7 e Ha=T

A) Case Study Method is not applicable to an individual

T T2 Tgd TETAT AT W 2id ATl

B) Introspection Method lacks reliability, vahdity and objectivity

ATCHIALTET Tgd (e aTaTearn, IaaT ATfor aeqg=ar A9 f3aar,

C } Observation Method can be used to assess the hehaviour of an

individual in natural conditions

AatitE T TETE AT aaAT oA HITATATS] (T
T =T AT97 FHAT A3 9T,

D) Experimental Method advocates the study of behaviour under

completely uncontrolled flexible conditions

qHET

Choose the correct one

T 397 Ha=T

Options :

A.BCD

A, B.Conly

wh A, B, C
2. %



B.C 01113'

% B, C
3. %
A C.Donly
wH A, C,D
4, %

Question Number : 12 Question Id : 4771873071 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Decision making. Problem solving and Logical thinking belong to this domain

Options :

Psycho-motor

! [ I-l [ e i -
1. %

Cognitive

- i ]

2.

Affective

FATAT
3. %

Conative

HHoqqTcHF [ T=aT9hia99®

4. %



Question Number : 13 Question Id : 4771873072 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. identify those that are relevant to learning

T e Teh T TSreAoTTeft Hatard Aa= Arsar

A) Unlearning is also considered as learning
= f9ror 2 9T ferhor T2 AT ST
B) Learning 1s a product and not a process

EQ! I%W"ﬁ”ila-l%‘tss ’!] ;ng:[

C) Learning prepares an individual only for any maladjustment

FSTAT TETT ZHAT A FITATel A =41 HHASAATHST TATE Fd.

D) Learning results in behavioural change through practice

TETAT=AT ATEAHTAA (S ATHe a7 a2« g9 Aal.

Choose the correct one

I 37 Ha=T

Options :

A B.C.D

A.B.Donly

T A B D

A B, C 0111}'

TmA B, C
3. %



A.Donly

Th AL D



Question Number : 14 Question Id : 4771873073 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items in List-A with the needs they represent given under List-B

ATET — o Hefter aTell ATET — & sfaeia feeteaT el s[@ar

List- A List —B
qTal - o qTal -
A)  Elders support 1)  Esteem needs
ATSART-ATAT TISaT
B) Social status i1) Safety needs

C) Sleep iii) Love and Belonging needs
ik I AT AT OT=AT AT
D) Affection iv) Physical needs
i AT ST

Choose the correct one
Options :

A-m, B-1, C-1v, D-11

1. %

A-11, B-1, C-1v, D-1n
2.

A-11, B-a1, C-iv, D1
3. %

A-1v, B-1i1, C-1, D-1
4. ®



Question Number : 15 Question Id : 4771873074 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct sequence of the steps involved in

learning process

Options :

Goal. Motive. Overcoming obstacles. Achieving desired behavigural change

%ﬁ?{, %_g[, F=gwdTdL ?H1g Erf{t?]', T=2d IOATcHT da9 ATeT F0T

1. #®

Goal. Overcoming obstacles, Achieving desired behavipural change. Motive

4T, ASTGATAL AIG H1, 3= TdqTcHS dae J187 T2, 2

Motive. Overcoming obstacles, Achieving desired behavigural change. Goal

o, AST@ATAL AT B0, T=gd TaqIcHT a2 J159 FI], €47
3. %
Motive, Goal. Overcoming obstacles, Achieving desired behavioural change

= -

o, =49, AST@A (7 |G F290, FT~ad aa-TcAT a2 q1=7 FI0]

4.



Question Number : 16 Question Id : 4771873075 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which is associated with Men and Material

respurces

1T F FTTd® AATea=79T Gaterd AT [Sraom=T 9=% Aadr

Options :

Proper seating arrangement and peaceful environment

AT §5% AIEAT AT STIaaTHT arara<
1.

Linking the recent learnings with those of the past

HEAT=AT FOTaTTT 10 [ qAHTAT A (SreammefT sreor

The basic potential of the learner

FErFOT-=T=T e \Har

3. %

The level of aspiration and achievement motivation

ATHTEAT AT ST L0 F7

4.%



Question Number : 17 Question Id : 4771873076 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the theories given under List-A with the basic principles given under

List-B

TS ATST — & Faeia feeter g aral — 7 #Fefier feerer gera aeAieft span

List- A

AR — A
(Theory )

(Fer=Ta)

A)  Operant conditioning

T o1 ATHATHT
(ATTE FHZertT)

B) C(lassical conditioning

ST ATHA THLT
(FATIEHA FIS9HT)

C} Trial and Error

Choose the correct one

g 397 Ha=T

ii)

iii)

iv}

List —B
qMaf =
(Principle /Laws)
(T | F19=)

Learning is based on the
principle of association and
substitution
Terar g ATE=E artor AfoearaeT=aT

dTaTaL AT A9d
Stamping 1n correct responses

and stamping out of Incorrect

I‘ESPGHSEE
Al

Emphasis on perceptual

reprganization

(TRTER) ATETHT TAAIAa7 A7
Emphasis on response rather

than stimulus



Options :

A-m, B-1, C-1

1. ®

A-1wv, B-1,. C-n
2.

A-1v, B-m, C-11
3. %

A-111, B-1v, C-11

4.%



Question Number : 18 Question Id : 4771873077 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Class-V student observed the Gardening work and plantation activity of
high school students at school. He planted flowering plants at home. The

action of the student reflects this step of social learning.

AT IT=A =T A= s g4 agd =41 (ST Fde arTe 7 FaTrao

Options :

Attention

TE =T

Performance

EARPEEITE
2.

Beimnforcement

Ty (T

3. % i

Retention

AEAI ST (ATTITETI)

4.%



Question Number : 19 Question Id : 4771873078 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the aspects that can be transferred from one

situation to other situation of learning.

GTeATA T IO T2 Ut 19T i -7 FPaeia geaiai<d gia hard.
A) Habits

AT

B) Knowledge
EIGE

C) Skills
HIST

D) Feelings

qTEAT

Choosze the correct one

Options :

v A.B,C.D
A, C, D only

) % WA CD
B. C. D only
%W B.C.D

3. %



A.B.Donly

THA B D

Question Number : 20 Question Id : 4771873079 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Class-VII student tried to recall the concepts of Class-VI but the concepts
learnt m Class-VII are interrupting him. This 1s due to

TAAT AT =AT UHT [HATAT AT AT =41 AHeqdqT A5 T=T TAA HAT T97
AT AT THET (9TfeiodT Fea=T ATdT ASTHBT AT ATgd AT HIEIT

Options :

Proactive inhibition

TH — HiHT qidad
1. %
Repression
R
2. ®
Amnesia
wfager
3. %

Retroactive inhibition

TEA T Tiaay
4.



Question Number : 21 Question Id : 4771873080 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Suggest the aspects which help individuals to improve their memory and

retention abilities
=TTh= | SHLITTIh o ST AT GUTEUATHIS] Haq HL0TE 925 AT,
A)  Appropriate motivation

B) Over learning

ST e (ATEEa )

Y Being more emotional

ATEE AT 2

D) Associlation of ideas

i = I s
EEINEINE R CIEIRER R

Choosze the correct one

Options :
AB.CD
1. ®
A. B, Conly
T A.B. C
2. %
A.B.Donly
Tm A B.D

3.¢



B, C.D only

L% = B.C.D

Question Number : 22 Question Id : 4771873081 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students

AT feamerielt =g F2vaTaTdt ferdshi=t Tdias Ao aqgiHor 47 4 SAfos
FEAGH T e

Options :

Gafted

PIGEICIC]
1. ¢

Learning disabled

ferFoaTa A
2.
Physically challenged
ST 29T 18 H [ [aseiT
3. %

Slow learners

g fersome

(=3

4.%



Question Number : 23 Question Id : 4771873082 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this learning. Learners initiate and advance their learning by more

experienced partners

AT foveorra, fersony Afas et ST wadiq Fa:g4 [T geard
FHLATT AT T2 ST

Options :

Insightful Learning

AqLEl o1 fareT
1. %
Imitational Learning
AaH o foreror
2. ®
Programmed Learning
3 % FTAFRHT TIT8T

Guided Inquiry Learning

Hreratstd S teft freor
4.



Question Number : 24 Question Id : 4771873083 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among

students

Famertaet e faveor gareoEmdT et g 2 e

A) Set clear and specific goals

w72 T fAfere 3= Miaa v

B) Malke goals dynamie with revision at regular intervals

328 A Taabl TLE (hare Tfaefier F:1

C) Involve parents

D) Let students own their progress

FEreretaT =g =T FaEgeTt 95 A>T

Choose the correct one
g 397 fAg=T

Options :

A.B.Donly

TmA B D
1. #®

A.B. Conly

T A B.C

A, C.Donly

T A C. D

A,B.C,D
4. &



Question Number : 25 Question Id : 4771873084 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method. the learner has to follow this sequence
SQ3R T&dT HeA, TSrHoT-ATET FT TISTET ATTar

Options :

Survey, Question, Review, Read, Recite

HAA, T, TALTAA (6, AT, TBAL

1. #
Survey. Question. Read. Review. Recite
HAA, T, ATAA, TALTGA A, TTSAL
2. %
Survey, Question. Read, Recite, Review
HAAT, T, AT, ABIAL, AL 159
3.

Survey, Read, Question. Recite, Review



Question Number : 26 Question Id : 4771873085 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the Phases of teaching given under List-A with the associations given

under List-B

ATl — & FATT (e edT AATIAT=AT 209G TH T Tl — F AT (ae=aT =918 Farag
AT T B olT F2T

List- A List —B
AT - qE -
(Phases) (Association)
(28) GEICREIED)
A) Pre-active 1) Conducting Group activities
in the class
ESREIR ‘ .
ERIERCAERIE T IR RICHER]
B) Inter-active i1) Giving home assignments
C) Post-active 1) Writing lesson plan
T AT / HeqH T R IR RERIEERRIEE

Choose the correct one

T 397 Ha=1

Options :

A-1, B-11, C-111
1. %

A-m, B-1, C-1
2.

A-m, B-11, C-1
3. %



A-1,B-1, C-ii

Question Number : 27 Question Id : 4771873086 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following strategies has less scope to promote group learning

w D=1
among learners?

FTATATDT % OTeAT G0 (A= TATHES T2 fSaoTaT TieaTeT ST el H41 979 e
Options :
Discussions
1. %
Brain storming
IEELER: G
2. ®
Lecture cum demaonstration
ATATAHE AZ999
3. ¢
Seminars



Question Number : 28 Question Id : 4771873087 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement among the following regarding guidance

and counselling

ARSI AT AHTLIT T FEATAA GTATATH o0 =TT Arear
Options :
In directive counselling, the counsellor plays an active role in

understanding problem

R eTTeia ATTTd, AT T THEAT AT TS T STt

ERICKIE

1. %
In non-directive counselling, the counsellee plays an active role
ATAZLTHT FHTRAATE, AT ATHF TIHET TS0

2. %
Directive counselling is also called as client-centred-counselling
TASITenT FHT9TH FAT4e — Hfgd GHI99 21aa Fgorar.

3. ¢

Vocational guidance helps in career planning and professional

development

FATTATIEAT ATE Hea7 Far=" arior sATaartEa® Fama g2 F:ed



Question Number : 29 Question Id : 4771873088 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under

List-B

AT — o "t Faerer frspoar=i Steft anfor At — F 77 e Sawai= [@of

T

List- A List —B
qTET - A qTef - o
(Learning style) (Activities )
(FersmaT=T drefi) (TTHH)
A) Visual learning 1)  Listening to tape recorders
FEATHTHT [ Z9ATHT (978 '
B) Auditory learning i1) Understanding Gestures
AT TorerTT TATTAT A HO0
C) Kinesthetic learning 11} Preparing models
[ERUCEREE AISTH TATHTN

Choose the correct one

Options :
A, B-ni, C-n

1. ®

A-11, B4, C-m
2.

A1, B-n, C-mn
3. %

A-i1, B-11, Ca



Question Number : 30 Question Id : 4771873089 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The teacher can promote team work, leadership. conflict management and

interpersonal skills among learners in this type of learning

T g Te=AT v, foverss =mataey aifas &, 99, J99 AT ATy
ATATA T BT ACATIET F% TFal.

Options :

Co-operative learning

L3 Q_qil q frq Ei TC-'?I'ET‘UT
1. ¢
Teacher-centric learning
fore — e foraor
2. %
Self-learning
=T — ATH
3. %
Subject-centric learning
oo — Ftea feror
4. %
Language I Marathi
Section Id : 477187102
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 477187161
Question Shuffling Allowed : Yes



Question Id : 4771873090 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

T FHIE 31 7 35 =T ITL GTAT (ST FiAa=a7 AT 07 7377 FHag fegr.

ATTA AebT &l STET ATIA | a7 ||
&t et errest a7 w==adl |
AFETH A T[EA (2T T 1)
& 3 Tt Fdt sradt 9
BT AT GTT =471 2Tg 1)
EEEECFEIERZIEE

HI I FLUATAT, 221 93 ||
HT AT ATeAc 1] & &+ o1 9TTesT
ST ZSMTETST TATE Ffd 91a67 1|

Sub questions

Question Number : 31 Question Id : 4771873091 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
ST

1. ¢

Question Number : 32 Question Id : 4771873092 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



ST o g TH=reaier Heara ?

Options :
“ : fia
1. *
CEREIE]
2.

y L‘«i‘
4, %

Question Number : 33 Question Id : 4771873093 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fid [+ ITeBAT i JTHAT fad | AT ?
Options :
ATATIHT
1. %
'D‘ = 4
2.¥
3. %
Taq eELiET
4. %

Question Number : 34 Question Id : 4771873094 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
fa=mertar ames Aot #r aea 2
Options :
FTeaT

1. *

) HH T AT



faraT

Question Number : 35 Question Id : 4771873095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
SITFTATHTST ATTBT HIITAT TATE Tl ?
Options :

i'-'l{.l | ﬂlfi;
1. ¢

n :

Sub-Section Number : 2
Sub-Section Id : 477187162
Question Shuffling Allowed : Yes



Question Id : 4771873096 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)
W FHIS 36 7 40 ST ITL 1l TEeedr IAT-ATAT AT F197 73719 fea= forgr.

AreselT ATH 2T Aqd ARTATHT SAYAT F2d AAGL. T2 G FIH FLT ATTH ATLH
T AR AT, S e arE =g g feaidt |t geeft A9 a¥ AT AT
HAqq BIH F2d TgMd. INHA a99 Tged = A ABH aTeal. —rvl?u—am%rﬁ—«rmmﬁ
aifgs i, F1es 21 gad qe F1d AFar. A fhdiat diwa far disar wwmEy am e i ar
FITATS R ATad Fadl. mmmﬂﬁmwmﬁwﬁwﬂﬁﬁw
TF T FTH Fld M(gedT ATATH HeTT Jal. F9d a7 AT (4ad 1 Heqra? df=aardt q5i

I, @7 Easft sr@aTa Aled TSIEHTIEAT HTET AT T ATTS 1+ HIH ®0d, ATTAT @ Sar4T,

Sub questions

Question Number : 36 Question Id : 4771873097 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
AT I T AT A T g 2

Options :

. o7 97e a7
1.

2. %

3.9

4. %

Question Number : 37 Question Id : 4771873098 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

HTTET TRelt T ST =TT 241 ?

Options :

iGN

1. %



2. %
T - HET
3.
M E
4. % |

Question Number : 38 Question Id : 4771873099 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fl_jl =7 TeaefT =17 T3 AT =G HTAT A2 ?

Options :

1. %

ZaTd 79 AT

IqTeft 72T
4. % '

Question Number : 39 Question Id : 4771873100 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Options :
ATeH T ATTH

1. %

i o
2.¢

ERGEIEEIRIC
3 %



L x o7 G Frorer 21 ARl

Question Number : 40 Question Id : 4771873101 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

FTETHT AT9T2T Hordt ?

Options :
| % T T JIT ATAT

3.¢¥
o7 FebT o 2t ARl
4. % '
Sub-Section Number : 3
Sub-Section Id : 477187163
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4771873102 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

HT ATA=AT=AT T 919 HOT ?

Options :
EINEE]

1. %

2. %



Question Number : 42 Question Id : 4771873103 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
HITIT TTEATTHL

1. %

l.l Er{ i”éi aJ

3. %

IEK: IR
4. &

Question Number : 43 Question Id : 4771873104 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Bl =7 HITAHId RIAT ATIEAT ATd Fllizli.

Options :
1. #
T
2. % :
3. % =
o



Question Number : 44 Question Id : 4771873105 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
TTSETST AT ATHTSS 9r5aT=7 {478 Forar ?

Options :
1. %

REICECIEL
2. %

IT=TST 9T=T
3.¢

Question Number : 45 Question Id : 4771873106 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

SrefeTEd’ T AT I AHTH HIOTAT?

Options :
FHYTIT

1. *

2. %



Question Number : 46 Question Id : 4771873107 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
o T AT ATHAT

STIeT ST s79=47

2. %

3. %

R HEE L]

Question Number : 47 Question Id : 4771873108 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
B AT STeaT=T HATTH TAAAT 958 H107AT ?

Options :



Question Number : 48 Question Id : 4771873109 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

B AT T T et AT g

Options :

[, ® ; =
osT AT
2. %
?:I'T‘ifﬁ_‘ﬁl_:rﬁ"
3.9
:qT L F? E
4, %

Question Number : 49 Question Id : 4771873110 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
eI Al EIEEIE b= G e e IC:_'?';E ST 2

Options :

1. %

» e
2. %
3. ¥



Question Number : 50 Question Id : 4771873111 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
e H HTAT st =T sifdanrs fafag wiada somar = &g ?

Options :

FEl T
1.v¥

_I¥H

ST 7

AT TH

Question Number : 51 Question Id : 4771873112 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

T STeR T ST AFAT §Tex HITAT ?
Options :
FATH
] *
2. %
T
3. %



Question Number : 52 Question Id : 4771873113 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ST T J‘If""“‘ll'-iﬂl"a L= | WWW

Options :

AT

== TE qz=47 a91id gl

4.9

Question Number : 53 Question Id : 4771873114 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

TG AT 9Te2T=T A4

Options :

1. % UW
2.9

3. % m



Question Number : 54 Question Id : 4771873115 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
ATl AT ATALAT AHAA 157 BT ?

Options :

Question Number : 55 Question Id : 4771873116 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

“FT FATE HATL, STAT T4T g7 & 737 RI=HT 2
Options :

1. %



Question Number : 56 Question Id : 4771873117 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. ar. fearese 7o ?
Options :

1. %
2. ¢ 9
HTEd =
3. %
9T A2
4, %

Question Number : 57 Question Id : 4771873118 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Options :

R SESLLURLE L S ferre o ST
1.¢ °

e AT AT form o |

2. %
3. %

4, %



Question Number : 58 Question Id : 4771873119 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
HITSTAT AT g1 1 ATH ATAT AG ?

Options :

1. ¢

Question Number : 59 Question Id : 4771873120 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

TCHH ST5% FgUTS AT ATHAA STH=AT TH AT 97e3,

Options :
1. %

PAEEs]
2. %

EACEL]
3. %



Question Number : 60 Question Id : 4771873121 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

TSI ST AT AT AT T30 ST ?

Options :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Language II English

477187103
3

Online
Mandatory
26

26

30

0

1
477187164
Yes



Question Id : 4771873122 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:} iz a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia.
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771873123 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to varipus

space agencies based on the following contribution.

Options :

soclal service-related
1.

environmental
2.

finanecial and other resources
3. ¢



educatignal

Question Number : 62 Question Id : 4771873124 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continupus human presence since the year

Options :

| = 2022

v 2000
1998

3. %

\ 2011

Question Number : 63 Question Id : 4771873125 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about the International Space Station (ISS).
Options :
It i1z a multinational initiative and the smallest single structure ever
constructed by humans in space.
1. %
It 15 a multinational initiative and the largest single structure ever

constructed by humans in pcean.
2. %

It 15 a multinational initiative and the largest single structure ever

constructed by humans in space.

It 1s only NASA's initiative and the largest single structure ever

constructed by humans mn space.



Question Number : 64 Question Id : 4771873126 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %
Russia
2. ®
Japan
3. % P
The United States of America
4.

Question Number : 65 Question Id : 4771873127 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA), the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia, Canada, and Japan
1.«

Europe. the United States of America. Russia, India, and Japan
2. ®

Europe. the United States of America. Germany. Canada. and Japan

Europe. the United States of America. Russia, China and Japan

4. %
Sub-Section Number : 2
Sub-Section Id : 477187165

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771873128 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. %

There, their
2. %

Their, they
3. %

They, their
4.

Question Number : 67 Question Id : 4771873129 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.
Choose the correct option.

Options :

Only the sentence A 1s correct.

Only the sentence B is correct.
2.

The sentences A and B are correct.

The sentences A and B are incorrect.



Question Number : 68 Question Id : 4771873130 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

% fastly
quick

2. #

3 @ quickly
slow

4. %

Question Number : 69 Question Id : 4771873131 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1. ¢

gave up
2. %

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771873132 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey you unless you talked to him politely.
1. %

Sharath will not obey vou unless you don't talk to him politely.
2. %

Sharath will obey vou unless you tallk to him politely.
3. %

Sharath will not obey yvou unless you talk to him politely.
4. ¢

Question Number : 71 Question Id : 4771873133 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. #

The car was being driven by my brother.
2.

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %

: Yes Display Question

: Yes Display Question



Question Number : 72 Question Id : 4771873134 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.

1. %
I requested my friend to lend me your cycle.
2. %
s I requested my friend to lend me his cycle.
. My friend requested me to lend his cycle.
4.

Question Number : 73 Question Id : 4771873135 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

acant



Question Number : 74 Question Id : 4771873136 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history 1s profound.

Identify the opposite meaning of the word ‘profound’.

Options :

| % sincere
scholarly

2. ®

_ erudite
superficial

4,

Question Number : 75 Question Id : 4771873137 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. %

ornithology.
2. ¢
3 % zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771873138 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom “a dark horse’.

Options :

A wild animal

1. %

A black horse
2. ®

An unknown entry
3.

A front runner
4.%

Question Number : 77 Question Id : 4771873139 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. ®

maintenence
2.9

exclamatory
3.8

colleague

4, %



Question Number : 78 Question Id : 4771873140 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land is weakening India’s monsoon.

1. #

Conversion of forests into monsoon land iz weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land is weakening India’s forests.

Conversion of forests into agriculture land is weakening India’s monsoon.
4. <

Question Number : 79 Question Id : 4771873141 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday. ?
Choose the correct option to complete the sentence.
Options :

wasn't it

1.

18n't it
2. %

s 1t
3. %

was 1t



Question Number : 80 Question Id : 4771873142 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D

Options :

Question Number : 81 Question Id : 4771873143 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.
1. ®

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771873144 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country. people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that theyv themselves are

Choose the correct option.

Options :

2.

3.

4.

P.Q.T.R.S

P.T.Q.S. R
'y

PR Q. T.8
®

P.T.R.Q.S

®

: MCQ Option Shuffling : Yes Display Question



Question Number : 83 Question Id : 4771873145 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom is the gift of heaven.

The rose is the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771873146 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.



Question Number : 85 Question Id : 4771873147 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 1sa/an
peop ;

Options :

story.
1. %

conversatlon.

2.
essay
3. % :
apeech.
% 0

Question Number : 86 Question Id : 4771873148 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner

1.

Noam Chomsky
2. %

Antony EM

Brendan J. Carroll



Question Number : 87 Question Id : 4771873149 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom. an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. ®
strict and following formal methods of teaching.
2. ®
stimulating, inclusive, and focused on student participation.
3. ¢
teaching and learning that relies solely on the textbook.
4. %

Question Number : 88 Question Id : 4771873150 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1s inappropriate for the English mstruction at the primary
level.

Options :

Friendship and Kindnesa

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771873151 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. ®

express oneself intelligibly. reasonably and accurately.
2.

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771873152 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1s correct.

1. %

Only the statement B 1z correct.
2. ®

The statements A and B are correct.
3.9

The statements A and B are incorrect.
4. %

Mathematics



Section Id : 477187104

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187166
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771873153 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3.7 is

3.7 9HT ==

Options :

37

100

37
99

34
99



Question Number : 92 Question Id : 4771873154 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(=3) X (—4) X (-5) x (=6) X (=7)] =

Options :

—2520
1. ¢

2520
2. %

—1260
3. %

1260
4. %

Question Number : 93 Question Id : 4771873155 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The population of a town is 108090. Out of which 29040 are men and 28105 are

women and the remaining are children. Then the number of children 1s

T STEZTH1 @ e 108090 =g =T Tt 29040 T=7 28105 =T Argd A1 ITeA=A|
Options :
. 50845

51945

51845

4.4



Question Number : 94 Question Id : 4771873156 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects In an examination are 228. If the average
marks of 3 subjects is 56, then how many marks did the student get in the fourth
subject?

et Tamet wdied 4 fAwEmeed vegor o7 228 festa wg w17 3 A et
56 s a7 = r=AT e fEmetar T o e

Options :



Question Number : 95 Question Id : 4771873157 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?
_Eﬁ— IWE._“‘—'{T II ﬂ [" E;l Q_l; ?ﬂ qc\jlﬂl ﬁ 3"%

Options :
98

| % 100

23
25

10

11
3.

57
% 59



Question Number : 96 Question Id : 4771873158 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. : 1 . . . :
If each side of a triangle = rd of its perimeter, then type of the triangle 1s

o . 1
Wﬁmﬁmwwwﬁﬁfﬁwgaﬁﬁﬁﬁvwﬁﬁmmw

Options :

Isosceles

aH Ii:x'fﬁ'
1. %

Equilateral
2. g

Right angled

l JrE-\ i[

3. %

Obtusze

IEEIEEIGE
4, %



Question Number : 97 Question Id : 4771873159 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following number 1s divisible by 6?
ATATA T FIOTAT HEAT 6 F TOTTO SE SAT

Options :
179184

[
P
L]
el
h
e

[#a]
=
=
()]
A
[

726352

Question Number : 98 Question Id : 4771873160 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres 1s

100 fererfizs =7 fodt foett dize arg

Options :

5
1. % 10

107
2. %

112

108
4. ¢



Question Number : 99 Question Id : 4771873161 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron is

A FATTA I (tetrahedron ) FTHT HeT

Options :



Question Number : 100 Question Id : 4771873162 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire is used to form following shapes. Which of them will have
shortest side?

60 FHT AT ATEATEA DT (e AR TATL FLIAT AT AT HES AATT AGIT AT

Options :

a sguare

EIEE:]

1. #®

an equilateral triangle

2. %

a regular pentagon

[ERIECIEEIC]

a regular hexagon

BRI R EEIT
4.



Question Number : 101 Question Id : 4771873163 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X3BX38-26X26X26
38x38+38X26+26X26

Options :

E2
1. ¢

144
64

1728

Question Number : 102 Question Id : 4771873164 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price i1s 8:10. The profit percent is

=AY e ar o et feeft 5w 8010 A2 a7 23T T et o
Options :

50%
1. %

2.¢



Question Number : 103 Question Id : 4771873165 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s NOT correct?

Options :

o 15
15 tenths = —

& 15
15

3025 grams = 3 kilograms 25 grams
30259199 = 3 ia“; T 25919
2. ®

Area of a rectangle 4.5m X 0.5m = area of a square with side 15em

ATATS AF%S 4.5m X 0.5m = FHAH %S 15 AT, TS AHA
3.¢

0016 =16x 1073



Question Number : 104 Question Id : 4771873166 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The place value of 0 1n 2225106 1s

0 & ®ITH=T 2225.106 7ET Fl5 A%
Options :
Hundreds

lﬁﬁw

Hundredths

=
4 TACTET |19



Question Number : 105 Question Id : 4771873167 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
o 1 , , , , 2
Ramu gave his sister = th of chocolates available with him. He gave his brother o

rd from the remaining and left with 48 chocolates. The number of chocolates

available with Ramu at first 1s

. 1 L5 i
WWWWWEWWW Toel JTeAT A(deiad Tl

2 - y '
S ST O STt {2 S o w3 i 48 A{hcAed 3T qF RS EATd e
B ?U%ﬂ%ﬂ EGE

Options :

Question Number : 106 Question Id : 4771873168 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers 1s divisible by 2, 3, 6 and 8?

GTATA Tl HITAT FA4AT 2,3,6 AT 8 7 ST AT,
Options :

|y 24810

433888
2. %

34800
3.

42316



Question Number : 107 Question Id : 4771873169 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 men can complete a work in 24 days. then 12 men will complete the same work

in how many days?

™

4 &9 UF F1q 24 fEaard 90 FA79 97 12 I59 oF H14 T GFamd gof Fdi.

Options :

-
L% 12

[s]



Question Number : 108 Question Id : 4771873170 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
35m? is the area of
35m? ¥ AT HAwS AE.
Options :

A square having side 35m

35 Hi. AT FHEAAT A LA

5 squares having side 7m each

gt 7 |1, A9« 5 99T

2. %

5 squares having side 1lm each

TR 1 o, e 35 9194
3.9

7 squares having side 5m each

qedht 5 HT. @A 7 F17H

4. %



Question Number : 109 Question Id : 4771873171 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands 8§ hundred sixty-nine in numerals can be

written as

i FIET TET AT AL GATT ABI THT AT § ABIHES

Options :

30604869
1. ¢

360400869
2. %

36004869
3. %

306048069

Question Number : 110 Question Id : 4771873172 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
(32)° =
Options :

3 8

1. #®

3
2.$3ll5

333"3'2

27*
4. &



Question Number : 111 Question Id : 4771873173 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. ¢ o
There are 72 students in a class. If the number of boys 1s _ times the number of

girls, then the number of girls 1s

Options :
L% 27

2.\_;,4.‘3

Question Number : 112 Question Id : 4771873174 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of points present on a straight line are

Options :

0
1. ®

2
2. %

Ca
3.¢

1



Question Number : 113 Question Id : 4771873175 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Whach of the following 1s an even integer when 1 1= an odd integer?

Options :
5n+8

1. %

3n®+5
2. %

3n?+4

4n%* — 5



Question Number : 114 Question Id : 4771873176 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 15 A and mean of odd numbers less than 10 1a
A

B. then — =
B

57 25 T FHT AFAT A b HSATHT A0 A FHA AT 10 TAT FHT AwAeAT FHA

et AT B s - -

Options :

18
4. %



Question Number : 115 Question Id : 4771873177 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?

Options :

It involves abstract thinking and logical reasoning.

It 1s limited to solving routine classroom problems.

& FAe aidid (HAHT AHET FHTETE FOATId A2 A2,

It 1= exclusively concerned with prineciples.

% s tergTATSAT A ATy

It 1z a language used only in art and engineering.

T AT AT ATHITIRT HET TOTAT THTL ATTLA IO T ATAT AL,

4. %



Question Number : 116 Question Id : 4771873178 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a child is consistently struggling to count beyond 20, what should a primary

mathematics teacher do first?

ST TETE o ATaeAT 20 =T U2 AT SS9 FIG A T ATATHE T (STAH
EEPRRIEIRETACH
Options :

Doing challenging addition problems.

[ [l -
ST a7 FHSATIL HTH F29]

Reciting the numbers.

2. %

Conduct of daily tests.

s =TS ATHET JT,

Strengthening counting skills by utilizing concrete objects.

B TG ATTEA HISAT HHeTe A B0
4.



Question Number : 117 Question Id : 4771873179 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A rubric 1s:

=T 3

Options :

1. %

3.

4, %

A standardized test prepared by the experts.

2 TsTETe T3 et U FHIOT F=00 ATe.

A multiplhication and division trick to answer within seconds.

A scoring guide that provides criteria for assessment.

A graphing tool to solve algebraic equations and algebraic problems.

AT FH T T W =TS T JTL AT AT,

: Yes Display Question



Question Number : 118 Question Id : 4771873180 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematics listed in A with their corresponding actions in B:

A wefiet o= AT92r= B #efter Hatad o reff stear

A B
A) Creativity 1) Breaks down problems logically
B) Analytical Thinking 11) In-depth content knowledge

[EPERICERCRIES EIERERREIE)

C) Communication iii)  Use innovative methods
HATT (H17) AT T =T AT

D) Conceptual Understanding iv)  Explaining mathematical ideas
ETEE IR ETRE TOTT FwaT T FI0.

Choose the correct answer

Options :
A-1, B-iv, C-1n1, D-n1

1. ®

A, B-1, C-1, D-iv
2. %

A-11, B-1, C-iv, D-11
3.9

A-1v, B-1, C-u1, D-n



Question Number : 119 Question Id : 4771873181 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The instructional objectives are:

L

ECIREREIEAS

Options :

More related to classroom teaching.

. AT fereaomsfr arfers aafaa aaar.
1.

Achievable in the long term.

&1 FTIFTATT FTATITLTT ATET FeAT ATATT.

2. %

More abstract.

. AT AL AAAT,
3.

Not measurable.

4. %



Question Number : 120 Question Id : 4771873182 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess, "If a square piece of paper is cut diagonally,

what shapes will be formed?"

oY f9rAFT =T TAT == o S ST (=1 FETAT s (a7 L9 F9ET a2
A) Two rectangles

BRG]
B) Two circles

= 9

C} Two triangles
EEREEIR
D) One triangle

This question relates to this academic standard.

AT TATAT Ha e Sators 77 fAwoisft e,

Options :

Connections

Visualisation

F99 =T HedAT



Problem solving

qHET A=99

3. %

Reasoning and proof

4, %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Environmental Studies
477187105
5
Online
Mandatory
30
30
30
0
1
477187167
Yes



Question Number : 121 Question Id : 4771873183 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants can be classified into the following categories

™ = rr

FAETA TS IR0 FTA I TR F2a7 4.

A) herbs

B) shrubs

Choose the correct answer

IF 397 Ha=T
Options :
A & B only

h A #ATT B

B &T C 01113'

%@ B s ¢

A&k C Olll:v

o A AT C

AB&C



Question Number : 122 Question Id : 4771873184 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Riya often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for

this advice is:

AT T2 ATTT FTHs T AT AT AT A1 (oA, = ST T s
AT J@T ATATEFe ST ATTITATST Jedl (337, FE0T STHe THATH 734 gid ATATHES
AHUTZT AT FIOTAT F92F A D gl HoaAl (341,

Options :
Protein

| % WO
Fiber

2. ST
Fat

3. % f
Vitamin

4 @ AT



Question Number : 123 Question Id : 4771873185 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditism.

THATAIN AR ETH (hermaphroditism) EERIEBERECIGE FE 18
Options :

Hermaphrodites can only reproduce asexually.

FHAT (hermaphrodites) FTh FR% TSTH % THTd.

All animals are hermaphrodites by nature.

H4 ot F=TF AT 399169 (hermaphrodites) sHEATT

Hermaphrodites possess both male and female reproductive organs.

I (hermaphrodites) HEH 97 T HIAT Zlvgl S 124 AHATT
3. ¢

Hermaphroditism occurs only in plants.

IHATT (hermaphrodites) %th IAeqdT H27 Azaal



Question Number : 124 Question Id : 4771873186 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary purpose of rearing the Kangayam bullock is:

Options :

Racing

ST

Milk production

ad Jodlad

Drought work

Wool production

a4 ™
AT o IeaTE
4.%



Question Number : 125 Question Id : 4771873187 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the device, commonly used in industrial chimneys to reduce air pollution

by removing particulate matter from flue gases, from the following

AT SRTSTHES IO F0 T2T4 FIgA 219 a1 T390 FH HL0ATATS
AT FT90e AT ITHT
Options :

(Gas turbine

T ZTaTed

1. %

Electrostatic precipitator

s
~ aﬁﬁ?—‘,—
Ly it " =

2.
Heat exchanger

s

Blast furnace

quHI_F,fFﬁT{



Question Number : 126 Question Id : 4771873188 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

A) Cooked food

FEEEEEE]

B) Baw food

Fg A

C]:LODSE‘ the correct answer

A0 397 HF=T
Options :

A 01113'

T A
1. ®

B only

T B

Both A & B

araf A& B

3.¢

Neither A nor B

A 97 ATET B T TR



Question Number : 127 Question Id : 4771873189 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

HTAAT=AT FTAT=AT WA ATTAT AAAAT d2IT T T

Options :

13 ribs

L% 13 F33=AT

12 ribs

12 FLT=A1
2.

11 ribs

11 F29=AT

10 ribs

10 F731=AT
4. %



Question Number : 128 Question Id : 4771873190 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere iz maintained

through:

ATATALITA T AT AT Frafd ST AFATZSH A AT 1Y TG F74,

A) Respiration — Plants
ST - e
B) Photosynthesis — Plants

THTET FZTI - AT

C) Photoasyntheszis — Animals

TRTIT FE[TIT - FTofF

Choose the correct answer

Options :
A & B only

v h A AT B

B & C only

%<h B &

2. %

A& C 01115'

Qﬁﬁﬁﬂfﬁff

AB&C
4.%



Question Number : 129 Question Id : 4771873191 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following declared a ‘no drive zone' within a 2.5 km radius of the Taj

Mahal?

ATATATHT FHI AT 2.5 6.5, v afvmaa A1 grgee Fm (aes =)

Options :

Archaeological Survey of India

1. ¢

Central Pollution Control Board
“ 3:‘%5{ ﬂéqu ﬁl qlﬂul II%E
2.

Supreme Court of India

AT a91g =TT
3. %

Ministry of Environment, Forest and Climate Change

4. %



Question Number : 130 Question Id : 4771873192 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and snow?

T (G4 ST GT AT (el T AT &) AT EHEra 39eee Arg ?

Options :

L% 10
1
2. % .
5
3. % 6
2
3



Question Number : 131 Question Id : 4771873193 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

spurces.
'_j,ﬂ:i 77 (renewable ) & for 21 qd CIETR (non-renewable) IATETET arad AT faaT
Ar@ET,

Options :

2.

3.

Renewable energy spurces are always more efficient than non-renewable

sources in ENETgY CONVersion.

Non-renewable energy sources are infinite and can be replenished

naturally within a short time span.

FEEIETIGE

Both renewable and non-renewable energy sources emit equal levels of

greenhouse gases during energy production.

AAABLOT T AT SATAA B FT Zleal IAT S IAT (ATHAT ZHT AT

[ .} Lo

giidig 919 3oA= Hdrd,




Renewable energv sources include solar, wind, and geothermal, while non-

renewable sources include coal. oil. and natural gas.

AAATHTT A IHAT B ITIHES AT AT-ATHT AT TATHT ISAT ATAT AATAS Bl

o AT AT F A Fiopa, Aer A7 AR AT A S,
4. ¢

Question Number : 132 Question Id : 4771873194 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in increasing the quantity of blood in the

human body?

Options :
Chips, soda, and white bread

1. %

Peanut bar, gingelly bar (Til), and eggs
2.

Pickles, fried snacks, and candy

AT, THAA TaTH AT Feal
3. %

Instant noodles. coffee, and sugary drinks

4. %



Question Number : 133 Question Id : 4771873195 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1565, the five Bahamani Kingdoms joined together and defeated this
Vijayanagara ruler at Rakkasi Tangadi war

2. 9. 1565 =T I FgHAT ATHTSAA TR AGT TEET S =T S fAeaae

ATATSAT=AT TTSTTAT T e,

Options :

Achyuta Raya

= AT

1. %

Aliva Rama Raya

HATTAAT TTHLTAT
2.¢¥

Venkatapati Raya

3. %

Saluva Narasimha Raya

Tt T 2 ﬁ%l IMHET

4, %



Question Number : 134 Question Id : 4771873196 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainism, the Rashtrakuta rulers

Were

Options :
Chandra Gupta IT and Udayana

=2vH 11 &Arfor 32T
], %

Kharavela and Samprathi

2. %

Hamundaraya and Kharavela

3. %

Amoghavarsha and Krishna IV

FETIIT AT oo [V
4.



Question Number : 135 Question Id : 4771873197 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1956, the number of States and Union Territories created by the States

Reorganisation Commission

1956 H= T TAL=AT AAGIL AL Beied T4 AT HoeTTad Faer=1 J=47

Options :

14 states and 6 Union Territories

. 14 775 #ATT9T 6 FEaTTad T=9T
1.

28 States and 9 Union Territories

28 7757 ATIIT 9 FaaTiad FaeT

2. %

18 States and 7 Union Territories

18 7T AT 7 FgaTTiadg FaoT
3 %

20 States and S Union Territories

29 T 10T 8 Fgemiad qaer



Question Number : 136 Question Id : 4771873198 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1939 and

1991

Greti G UF 1989 T 1991 ITHA ATEAT a9+ A=gd
Options :
LK Gujral
A, TAL0A
Deve Gowda

= =T

Vishwanath Prathap Singh

T aaTT g

Morarj Desal

HITTSAT 360TE



Question Number : 137 Question Id : 4771873199 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is the aim of 4274 constitutional amendment of the Indian

Constitution
ATATATHT T 42 FAT AATEewd (= AT A AAT=Td e IS e,

Options :

Malking the Judiciary subservient to Parliament

. T heAT Ad2=4T e 0T
1.

Enactment of the Official Language Act

Bringing Education Under Fundamental Righta

3. %

Strengthening the State Government vis a vis the Central Government

T STTAATAT HEATTAAT=T qeAa ATdd HLTFTH 77 30,
4.%



Question Number : 138 Question Id : 4771873200 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ravi 1s travelling from New York to New Delhi by Aeroplane. Then Raw

Options :

loses time of 4 minutes as he crosses every longitude

v T TS AT arar ar 4 =T 9% THTEar.

gains time of 4 minutes as he crosses every longitude

Foi TETeT ArereardT 4 AT 9% Headar

2. %

neither gains nor loses the time

3. %

almost loses 24 hours by the time he reaches New Delhi

AT T4 faeedtaT d1gw 19 T95-519% 24 TTF THEAT

4.%



Question Number : 139 Question Id : 4771873201 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau

AT T AL Feda=41 ToTT=41 Tahs (e H2] gAdTd,
Options :

The Satpura Range

ATTLST T
1. %

The Mahadev. the Kaimur range and a portion of Maikal Range

2.

Western Ghats

3 % TR ETE

Nilagiri Mountain Ranges

ClERIEAR EL AR

4. %



Question Number : 140 Question Id : 4771873202 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In India, the major tea producing region among the following is

Options :

The hilly regions of Assam

ATETH T 2T 9197
1.+

The Baba Budan Hilly Region

. aATdT AT ST AT
2.

The Nilgiris in Karnataka, Kerala and Tamil Nadu

The Andaman and Nicobar Region

=T AT T w297

4.%



Question Number : 141 Question Id : 4771873203 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in

drought prone areas 1s to

TERTBTET ATHES THHd TATATE A SATEATIT FEAGHAT T27 257 F1T ATe.
Options :
Strengthen the community and enable them to plan for proper utilisation of

natural resources

HEH AT
1. v

Provide water to drought prone areas continuously

2. %

Undertake plantation in large scale

3. %

Encourage the farmers to undertake community farming

ATAH-T AT HTHIET ST FL0ATH AlcATied HL0l.
4. %



Question Number : 142 Question Id : 4771873204 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Bhalita Prahalada, the first talkie movie which was released mm 1931 was

produced by
9 YEATE &1 1931 Wed wafda @l aigeft @ree (talkie movie) ErdT FiAT
Tyt et 2reit.

Options :
Raghupathi Venkaiah Naidu

THIAT IFAT ATHY

1. %

Edida Nageswara Rao

=T AT

Hanumappa Muniappa Reddy

3. ¢

M.V.Raghu

4. %



Question Number : 143 Question Id : 4771873205 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy

Varma started

EATTHES AT (AT FLTATATS! A9 ATHTAT ATTHA I g1 AHT AT HITAT
HET HE Al

Options :
Adi Hindu Society

Jagan Mitra Mandali

EUCREER:ERA
2. %

Satya Shodak Samaj

T SIS THTST

Sharada Sadan

4, %



Question Number : 144 Question Id : 4771873206 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This amendment made to the Indian Constitution says that “the state shall
provide free and compulsory Education to all children between the ages 6 and 14

vears

AT AT FeredT AT TEEA AT 5419 6 T 14 FTAFETT a4 qA AIET 9
ThrS forerT =T, 0 A

Options :

61°% Amendment

61 ot gEedt

1. %

47274 Amendment

42 7 gEedt

2. %

86th Amendment

86 =t get
3.¢

10274 Amendment

102t o=t

4. %



Question Number : 145 Question Id : 4771873207 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning

Interaction is primarily being emphasized in this activity?

fEsT=T g==aT F7E ArHdl 92 [@=A7 == ian ae TeHsd S HI0ATE
TRTATA. T TATT A HIE9T F=1 FL0GTE AT AT T (7T HIMedT TH1Er=

FOrAT HATETET AT 97 {31 S[ral.

Options :

Student—Content Interaction

far=mdfT - e ot 9=

Student —Teacher Interaction

=T - fereass Ja1=

2. %

Student— Student Interaction

fa=mdT — fa=ndt Jar=

Teacher—Content Interaction

fora — fao "reft |591=



Question Number : 146 Question Id : 4771873208 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is least relevant when evaluating the effectiveness of a

sclence period plan at the primary level?

AT F FE7 (&1 FrATael Tr==1 T FFd= e qTT i
Options :

Motivation of students in the teaching-learning process

AL - AT AlhAd (AT AT A0

Clarity in explaining the content

FETHEHH FTITI FHS A FF0ATAT FIHT

Effectiveness of assessment methods

3. %

Teacher's dress code

fora=r=T 39 Fr2
4. &



Question Number : 147 Question Id : 4771873209 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An EVS teacher. Kalpana. alwaya encourages her students to decide the final

result not with a single observation. but after maling several observations.

This 1s called:

= EVS ferfersr weaar fa=a1 Earsaiar dfow e vsre [iaone 7=g a7 a9

Options :

Inferencing
|, v ST PTEA

Classification

EUIETR

Prediction

Questioning

PERCEIEA

4. %



Question Number : 148 Question Id : 4771873210 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies

at Primary Stage

NCF-2005 TATT ATTHE T TG0 ASATAT GreAter 187 (9ot qrigst
A) Environmental Protection
T AT

B) Poverty

T
C} Child Labour

ATATTAT

]

D) Illiteracy

IGEE R L

E) Caste and Class equalities

Choose the correct one:

Options :

ABC. D E
1. ®

A.B.C.Donly

) Tm A B.C.D

A B.C.Eonly

T A B CE
3. %



A, C. Eonly

@ A, C.E
4, %

Question Number : 149 Question Id : 4771873211 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in

Environmental Studies

TR gF" &1 g1 THFL0 ASATHTATA AT 1ol Hhoqda< A Fhfag
FLATT ATAL

Options :

Safety

EEAC G

W

1. ®

Food. Health & Hygiene

2. %

Values and Rights

He ol ATI0T 2
3. ¢

Travel

4. %



Question Number : 150 Question Id : 4771873212 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The following activity will NOT help the teacher to create the effective EVS

(Environmental Studies) classroom environment

GTATATRT HIord T (AT fasTar 9=T=2or areare a1 AT Hram aad H2e
Options :

Discuss in groups

=TT FAT
1. %
Think and Say
= &er &ty |
2. ®
Collect and Record the information (Tables)
HTRT TTTeT e A 20l (THeaTa)
3. %
Reading the books

4.



